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(1) BFEBEUNZ
BARIIEERS 500 500 0
ERBATE SRS 500 500 0| EABETESFIE
SHEH 5,121,000 5,028,000 93,000
TH—BRE 5,121,000| 5,028,000 93,000
EE T ER 780,000 780,000 0
[IREBEEINZS 90,000 90,000 0|24k, HEILEH
RETIEERINGS 60,000 60,000 0|FEasE
SETIEBEING 630,000 630,000 0| L MEpLET 20EER S B LSS
SHRIS 7,951,600| 8,240,400| A 288,800
THSEHE 530,000 750,000| A 220,000
THEENRE 210,000 190,000 20,000
SHSSERRSIRESE | 7,211,600 7,300,400| A 88,800
SHaEs 234,000 249,000/ A 15,000
BE - LHSaTHaEs 234,000 249,000| A 15,000|5® ZHHas
MUNZS 517,500| 743,500 A 226,000
SEGFIE 500 500 0|FESFIE
M 517,000 743,000] A 226,000|£818%mES b
(REUNzsst] (A) 14,604,600 15,041,400] A 436,800
(2) BEEH
EES 12,490,640| 11,919,200| 571,440
(AZEMER) (2,815,000)| (2,763,000)|  (52,000)
HHESiRRER 205,000/ 191,000 14,000 |FsRIEHHES
e 12,000 12,000 0
BISEmE 24,000 24,000 0
SEHERE 14,000 0 14,000 [FHESS BT AT
ENR A ES 30,000 30,000 0
e 20,000 20,000 0
e 105,000 105,000 0
HBBREEE 375,000 393,000 A 18,000 |fERHE. HEI(X 1t
e 60,000 60,000 0
BISEmE 11,000 9,000 2,000
SEHERE 230,000 230,000 0
SEL N 3,000 3,000 0
SETN=Liok 69,000 89,000| A 20,000
e 2,000 2,000 0
BislR=SS 30,000 30,000 O | Bl F = Ra%
ey 12,000 12,000 0
wieias 18,000 18,000 0|EEASSHIE
BlOIEmESE 364,000/ 360,000 4,000 |£BRTE, HOBFEE 12
ey 12,000 12,000 0
BEERE 95,000 98,000 A 3,000
SEHERE 65,000 65,000 0
SEN 192,000 185,000 7,000
HaEmEy 78,000 78,000 o|iteEmEsE
SEHERE 28,000 28,000 0
wieias 50,000 50,000 0
EEXEEy 1,763,000 1,711,000 52,000 |(PE4EE, —HRERHE, BES
BEERE 144,000 144,000 0
SEHERE 10,000 10,000 0
ES=] 330,000 308,000 22,000
DN 66,000 66,000 0
EHe 718,000 718,000 0
wieias 95,000 95,000 0
LISE 400,000 370,000 30,000
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(INZ¥EE) (1,378,000)[ (1,321,000) (57,000)
EAEESEE 83,000 83,000 O |tBFIE4HEEE
=R 18,000 18,000 0
HEHEE 65,000 65,000 0
SEIEMEE 75,000 55,000 20,000 |=EE®IEESE
=R 15,000 15,000 0
SEIEREESE 60,000 40,000 20,000 (=Eig4HREE
SETIBEE 1,220,000 1,183,000 37,000 | £EKX%. HiEsE
AR E 91,000 115,000{ A 24,000
HERE 61,000 0 61,000 (=EfcmAHER
SERRE 1,068,000/ 1,068,000 0 |ispastsr20EaE RSB LE (AIERIERS)
(BIBEB0S5EXERA D) | (8,297,640)| (7,835,200) (462,440)
N ANEmEE | (7,170,800)| (6,855,800)| (315,000)
S EAE=ES (1,126,840) (979,400) (147,440)
by SESE 4,905,360| 4,777,600 127,760
BEAEEE 852,930 835,200 17,730 |#=FER i
REZEE 703,080 428,800 274,280
BEERE 512,730 506,400 6,330
HERE 250,290 247,200 3,090 |=%ARE ft
ENfmI A E 12,150 12,000 150
ARIE 145,800 144,000 1,800
== 369,360 364,800 4,560 |=75rh. BFES
fRB&AY 204,120 182,400 21,720
SBEEN 121,500 120,000 1,500
)-8 178,200 176,000 2,200
XINFER 34,020 32,800 1,220|&58E&HA fit
P & 8,100 8,000 100
=EBE 3,172,060 3,112,300 59,760
E=y 1,084,000 1,012,000 72,000
ZihE&iEE 10,000 10,000 0
[EBEEES 101,700 101,500 200
HONERE 30,000 30,000 0
BRIFES 1,150,640 1,194,400 A 43,760
BHEEE 200,070 208,800 A 8,730
RERBE 164,920 107,200 57,720
BEERE 120,270 126,600 A 6,330
SHEmE 58,710 61,800 A 3,090
ENRIREAE 2,850 3,000 A 150
RRIE 34,200 36,000 A 1,800
&En 86,640 91,200 A 4,560
fRB&AY 47,880 45,600 2,280
SBEETN 28,500 30,000 A 1,500
)-8 41,800 44,000 A 2,200
ZINFER 7,980 8,200 A 220
A = 1,900 2,000 A 100
(FEEMET] (B) 15,662,700 15,031,500 631,200
LERREIEIREE (A-B) A 1,058,100 9,900| A 1,068,000
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(2) EENER
RENERE 0 0 0
(HHEA—A%IEDREAEEIEREE] (A 1,058,100 9,900| A 1,068,000
(—RSIEREAER G &S] 15,489,037 14,329,846 1,159,191
(— A IEREAERAR &= ] 14,430,937| 14,339,746 91,191
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TEEESEKE 7,211,600 7,300,400 A 88,800
—ARIERBAEADIRES A 7,211,600(A 7,300,400 88,800
(IEREAERAR S 14,430,937| 14,339,746 91,191




